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c0s120° - cos30° +sin 120 - sin 30"

sin30° - cos150° +cos30° - sin 150"




OTBETbI:

[leBu3 ypoka:
«He 6ounTtecb chopmyn!
Yuutecb BnageTb 3STUM UHCTPYMEHTOM
HennoBeuyeckoro reHus!

B chopMynax 3ak/noueHo Benmume u
MOryLLecTBO pa3ymMa...»




OLIEHKA

1 «b»-5
1 «4» -4
7 «3»- 3
1 «2»-1-2
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YINPOCTUNTb BbIPAXXEHUE:

(sin(o +15%) + sin(et —15%)) -sin 15"
PewweHue:
(sin(a +15°) +sin(a —15"))-sin15° =

= (sina -cos15” +cosa -sin15° +

+sina -cosl5’ —cosa -sin15”)-sin15°
=2sina -cos15” -sin15° =sin(2-15°) -sina =
|

—=sin 30" -sina :Esina



TEMA YPOKA:
CYMMA CNHYCOB.

CYMMA KOCUHYCOB.
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OOPMYIJIbI:

sin(x+sinﬁ:2sina+ﬁ-cosa_ﬁ
2 2
a+p a—f3

cosa +cos B =2cos COS
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POPMYJIA CYMMbI CUHYCOB
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[lycTb x=a2ﬁ,y=a2ﬁ

TOraa x-|—y:a,x—y:,[)’
sino +sin f =sm(x+y)+sin(x—y) =
=SIN X-COS Y+ COSX-SIn y +

+SInX-COS y—COS X -SIn ) =

a+f a—[3

- COS
2 2

=2SIn x-COS Y =2sin



BblUNCJIUNTb:

L ¢0s105° +cos 75"
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2 SIn - SIN —
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3. [lokasaTtb TOXOECTBO

SIh o + S1n 3¢

=1g20
cosa + cos 3

4. 3anucaTb B BUae Npon3BeaeHus

c0s22’ + cos24’ + c0s26° + cos2&’

5. YNPOCTUTL BblpaxeHue

2(coso +cos3a)

2sin 2o +simn 4o



YINPOCTUNTb BbIPAXXEHUE:

(sin(o +15%) + sin(et —15%)) -sin 15"
PeweHue:

(sin(er +15%) +sin(r —15°)) -sin 15 =

Ca+15'+a-15" a+15 —o+15°
= 2sIn ; - COS } =

=2sina -cos15” -sin15° =sin(2-15")-sin¢r =

. . 1 .
=sin 30° -sin & =5s1na




CAMOCTOATEJIbHAA PABOTA

BbluncnnTb:

sin 2o + sin 4o
«5» - ,puc = - 450°
cos 2o + cos 4o

T Sm
«4» - cos?+cos—

6

«3» - sin195° +sin165°
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